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2. U A, B

n(U)=50, n(A)=25, n(B)=20,

n((A'B)Ç )=8 n(A;B)

5. ;1¶2; ;1#6%;

;aB;

b-a

3. A,{a, b, c, d} a<A n(A)=3

A

1.

4. 6, 8, 9 1

A,B n(A){n(B)

A'u=u

A;U=U (U )

(A;B),A

(A-B);B=u

(A-B)'(B-A)=A'B
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6. 1g, 2g, 2¤ g, y, 2⁄⁄ ‚ g

294g

8.
A={x|x 3 }

n(A)

10. a, b ;aB;<0 a

4, b 2 (a-b)¤

7.

9. ;2#; -;3$;

a 1÷a
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1 2 3 4 5 6
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15.

14.
(-2)‹ _3¤ ÷{(-2)¤ _4¤ ÷(-16)}+5

11. a 7 a 5

-a

13. a 6 b

1 a-b

12. 0.25 A, -1.5 B

A÷(-B)
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(-1)⁄ ‚ ⁄

(-2)¤ ÷2¤

(-5¤ )_{-;5!;}2

{;7!;} 3_(-7)‹

2_(-1)⁄ ⁄ ÷2

(-1)‡ +(-1)⁄ ⁄ +(-1)⁄ °
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20. A, B

A 3 B 7

3

500

18.
12

108

17. A, B, C 2000

8 12 20

B

16.
3

2

30

7

5

19.
150

4 6 9

3
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22. A={a-2, a+2, 5} B={b, 4, b+3}

A,B A.B a+b

23. 45

30

25

25. 50 21

7

24. p, q, r p+q=r 1<p<q p21.
A¡, A™, A£, y, A«

A«=[x|;n&;{x{7 ] n )

n(A¡'A™'y'A«)

1~20번 문제를 포함하여 21~30번 문제는 해법수학 경시대회

출전자격 부여를 위한 문제입니다.
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30. 8% 200g

2%

3% 320g

g

26. 0.3125

0.abcd(2) 0.bacd(2)

27. 1 100

23 jK 2+3, 59 jK 5+9

28. x>0 x [0.4]=0 [1]=1 [3.6]=3

[x] x

x 95x

29.

10

x

430

x

해 법 수 학 학 력 평 가

[3x]=6 x_[9x]=41




